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1.Which one of the following Thermometers is known as pyrometer?

A. Thermo-electric thermometers
B. Radiation thermometers

C. Gas thermometers

D. Liquid thermometers

Answer ||| B

Solution ||| Pyrometer measures heat greater than 1500 °© c. This is a
radiation-based thermometer.

2.'Dynamo’ is a device, which converts

chemical energy into electrical energy
electrical energy into mechanical energy
mechanical energy into electrical energy
. electrical energy into chemical energy

opwp

Answer ||| C

Solution ||| Dynamo is a device that converts mechanical energy into
electrical energy. Electric motor transforms electrical energy into
mechanical energy.

3.The velocity of wind is measured by

A. Barometer

B. Anaemometer
C. Hydrometer
D. Wind Vane

Answer ||| B

Solution ||| Moving Air is called Wind. The speed of the wind is measured
by the anomometer. Barometer is used for the measurement of air
pressure, the wind van is used for measuring wind direction. And for
measuring relative density of the fluid, hydrometer is used.
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4.Which one of the following gases is nhot a green ‘house gas?

A. CO;
B. NOz
C. CH4
D. Oz

Answer ||| D

Solution ||| €02, CHy and NO; are incorporated under the Green House
gases. Oxygen is not a green house gas.

5.Match the List-I with List-II and select the correct answer from the
codes given below the lists:
List-I

A) Viticulture

B) Vegeculture

C) Pisciculture

D) Olericulture

List-1I

1) Vegetable farming

2) Fish farming

3) Tree farming

4) Grapes farming

A. A-1, B-2, C-3, D-4
B. A-4, B-3, C-2, D-1
C. A-3, B-2, C-1, D-4
D. A-4, B-1, C-2, D-3

4 4

Answer ||| B

Solution ||| List-I

A) Viticulture

B) Vegeculture

C) Pisciculture

D) Olericulture
List-1I

1. Grapes farming

2. Vegetable farming
3. Fish farming

4. Tree farming.
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6.In wind power; which form of energy is converted into electrical
energy?

A. Kinetic energy
B. Potential energy
C. Solar energy

D. Radiant energy

Answer ||| A

Solution ||| In the wind power, kinetic energy is converted into electrical
energy. In this, electricity is generated by running a turbine with a large
air fan installed at a fixed height.

7.The minimum distance of clear vision for a normal healthy eye of
human being is supposed to be

A. 50 cm
B. 10 cm
C.15cm
D. 25 cm

Answer ||| D

Solution ||| For a normal healthy eye of human, the minimum vision
distance is considered to be 25 cm.

8.The substance used as moderator and coolant both, in nuclear reactors
is

A. Ordinary water
B. Heavy water

C. Liquid Ammonia
D. Liquid Hydrogen

Answer ||| B

Solution ||| Heavy water (D20) in nuclear reactors is used as both the
moderator and coolant forms.
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9.Which of the following air pollution gets dissolve in haemoglobin of the
blood more rapidly than oxygen?

A. PAN

B. Carbon dioxide
C. Carbon monoxide
D. Ozone

Answer ||| C

Solution ||| Carbon monoxide dissolves in the hemoglobin of blood more
quickly than oxygen, causing the hemoglobin's oxygen carrying capacity
significantly decreases. As a result, this can become a cause of
exhaustion, unconsciousness and even death.

10.Consider the following statements about haemoglobin:
A)It carries oxygen in the blood.

B)It is iron containing compound.

C)It provides immunity against certain disease.

D)It imparts red colour to the blood.

The correct statements out of these are:

A.1,2and 3
B.1,3and 4
C.2,3and 4
D.1,2and 4

Answer ||| D

Solution ||| Hemoglobin found in red blood cells is a complex protein in
which iron is present. Due to its (iron) presence, blood is reddish and it
carries oxygen in the blood.

11.'Big-Bang theory’ explains the origin of

A. Mammals
B. Ice-Age
C. Universe
D. Ocean
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Answer ||| C

Solution ||| Regarding the creation of the universe Big bang theory was
given by Georges Lennant.

12.Photovoltic cells are

A. Solar cells
B. Thermal cells
C. Sulphur cells
D. Molar cells

Answer ||| A

Solution ||| Photovoltic cells is a solar cell. Which convert the sun's light
energy to light energy through electrochemical effect.

13.Change in the base sequence within the germ is called

A. breeding
B. cloning
C. mutation
D. fusion

Answer ||| C

Solution ||| The corresponding change within the gene is called mutation.
By process of mutation continuously changes occur in DNA.

14.Which of the following is an important source of Vitamin-E?

A. Palm Oil

B. Coconut oil

C. Wheat germ oil
D. Mustard oil

Answer ||| C
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Solution ||| In the given options, the most important source of Vitamin E
is the Wheat germ oil .

15.The alkaloid caffeine is present in

A. Tea only

B. Coffee only

C. Tea and coffee both
D. Lemon water

Answer ||| C

Solution ||| alkaloid caffeine is present in Tea and coffee both. In
addition, it is also found in cocoa, cola nuts and some other plants.

16.Einstein was honoured with Nobel Prize for

A. Photoelectric effect

B. Theory of Specific Heats

C. Special Theory of Relativity
D. Bose-Einstein Statistics

Answer ||| A

Solution ||| Einstein was awarded the Nobel Prize in 1921 for the
discovery of the rule of photo-electrical effect.

17.Quinine, the effective medicine in the treatment of malaria, is
extracted from

A. Bark of Cinnamon

B. Bark of Cinchona

C. Leaves of Ocimum

D. Bark of Acacia Catechu

Answer ||| B
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Solution ||| Malaria Disease Effective Drug Quinine is extracted from
cinchona, tree bark. Quinine was first extracted in 1820 AD with the bark
of cinchona.

18.The brain is responsible for

A. thinking

B. regulating the heartbeat
C. balancing the body

D. All of the above three

Answer ||| D

Solution ||| Brain is responsible for thinking, heart beat control and body
balance.

19.The plants receive Nitrogen in form of

A. Nitric oxide
B. Nitrate

C. Ammonia
D. Nitride

Answer ||| B

Solution ||| Nitrogen is essential for plant growth. Plants get it from the
soil mainly in the form of nitrate.

20.Which of the following pairs is incorrectly matched?

A. Thiamine - Beriberi

B. Ascorbic acid - Scurvy

C. Vitamin A - Colour- blindness
D. Vitamin K - Blood clotting

Answer ||| C
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Solution ||| Vitamin A deficiency is associated with night blindness, in
which the visibility of night in the patient is weak, while Chromatopsy is a
congenital disease.

21.Leukaemia is a type of cancer in which there is abnormal increase in
the number of

A. bone cells

B. platelets

C. red blood cells
D. white blood cells

Answer ||| D

Solution ||| There is an unusual increase in the number of white blood
cells in leukemia, it is a type of blood cancer.

22.A man, who does not know when to stop eating, is suffering from

A. bulimia

B. diabetes

C. anorexia nervosa
D. hyperacidity

Answer ||| A

Solution ||| A person suffering from bulimia does not understand when it
should stop feeding.

23.For human blood transfusion, which blood group is known as universal
donor?

A. B+ Group
B. O Group

C. AB Group
D. A+ Group

Answer ||| B
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Solution ||| The "O" blood group is a universal donor for human blood
donation and the person with blood group AB is the universal acceptor.

24.Which of the following is/ are used as disinfectant of water?

A. Ozone

B. Chlorine dioxide
C. Chloramine

D. All of the above

Answer ||| D

Solution ||| Ozone, chlorine dioxide and chloramine are all used as
disinfectant of water.

25.Which of the following us used in the treatment of blood cancer?

A. lodine-131
B. Sodium-24
C. Phosphorus-32
D. Cobalt-60

Answer ||| C

Solution ||| Radioisotope phosphorus -32 is used for blood cancer
screening and treatment.

26.India Veterinary Research Institute is located at

A. Bareilly

B. Mathura

C. Karnal

D. Patna

Answer ||| A

Solution ||| Indian Veterinary Science Research Institute; (LVRT) is

present in Bareilly Uttar Pradesh. It was founded in 1889.

10
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27.Pungency in chillies is due to the presence of

A. Lycopine
B. Capsaicin
C. Carotene
D. Anthocyanin

Answer ||| B

Solution ||| The reason for the Pungency of chilli is the capsaicin alkyloid
present in it

28.Which of the following food materials contains all essential amino
acids?

A. Rice

B. Milk

C. Wheat

D. Soyabean

Answer ||| B

Solution ||| All essential Amino acid are found in both milk and egg.

29.Which yeast is used for commercial production of ethanol?

A. Candida Albicans

B. Saccharomyces cerevisiae
C. Candida sloofi

D. Leucosporidiumfrigidum

Answer ||| B

Solution ||| In commercial production of ethanol, commonly used yeast
is Saccharomyces cerevisiae.

11
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30.Which one of the following gases, released from bio-gas plant is used
as a fuel gas?

A. Butane
B. Propane
C. Methane
D. Ethane

Answer ||| C

Solution ||| Methane gas derived from biogas plant is used as fuel gas.

31.The accounts of Kalinga War is known to us by the

A. Rock Edict-XIII

B. Rummindei Pillar inscription
C. Accounts of Hiuen Tsang

D. Minor Rock Edict-I

Answer ||| A
Solution ||| Ashoka's 13th inscription gives details of his Kalinga war.

According to this inscription, the Kalinga war occurred in the eighth year
of Ashoka's coronation (261 BC).

32.Three human skeletons in a single grave were recovered at
A. Sarai Nahar Rai

B. Damdama

C. Mahadaha

D. Langhnaj

Answer ||| B

Solution ||| Three human skeletons in a single grave were recovered at
Damdama, located in Uttar Pradesh Pratapgarh district.

33.'PrithivyahPratham Veer'was the title of

12


http://www.gradeup.com/

www.gradeup.com ¥ gradeup

A. Samdragupta

B. Rajendra-I

C. Amoghavarsha

D. GautamiputraShatkarni

Answer ||| A

Solution ||| ‘PrithivyahPratham Veer’ was the title of Samudragupta.

34.Who was the founder of ‘VikramshilaVihar’?

A. Gopal

B. Devapal
C. Dharmapal
D. Mahipal

Answer ||| C

Solution ||| Vikramashlisa Vihar, situated on the hill called Patharghat in
Bhagalpur district of Bihar, was founded by Pal Naresh Dharmapal (775-
800 AD).

35.Which city was founded by Krishna Deva Rajya?

A. Warangal
B. Nagalapura
C. Udayagiri
D. Chandragiri

Answer ||| B

Solution ||| The famous ruler of Vijay Nagar, Krishna Deva Rai, founded a
new town called Nagalapura .

36.Jahangir mainly patronised Which of the following arts?

A. Painting
B. Architecture
C. Sculpture

13


http://www.gradeup.com/

www.gradeup.com ¥ gradeup

D. Music

Answer ||| A

Solution ||| Jahangir gave protection mainly to painting. During his time
Mughal painting reached its climax.

37.Who was called ‘a slave of a slave’?

A. Mohd. Ghori

B. QutubuddinAibak
C. Balban

D. Iltutmish

Answer ||| D

Solution ||| Iltutmish was called ‘a slave of a slave’ because He was a
slave bought by the slave himself, Kubtadin Aibak.

38.Which Mughal ruler out of the following learnt Hindu Music from Lal
Kalavant?

A. Humayun
B. Jahangir
C. Akbar

D. Shahjehan

Answer ||| C

Solution ||| The Ain-i-Akbari, written by Abu’l-Fazl ibn Mubarak, suggests
that there were 36 musicians of the high grate in the Mughal court of
Akbar. Akbar himself was a learned musician. He further studied Hindu
vocalization under Lal Kalawant who taught him “every breathing and
sound that appertains to the Hindi language.”

39.During the Mughal Period, the Madarsa which was specialized in the
teaching of ‘Muslim Jurisprudence’, was located in

14
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A. Lucknow

B. Delhi

C. Sialkot

D. Hyderabad(India)

Answer ||| A

Solution ||| During the Mughal period, the Karangi Mahal Madrasa,
located in Lucknow (Uttar Pradesh), had achieved specialization in the
study of *‘Muslim Jurisprudence’.

40.In which year, did Babar defeat Sultan Ibrahim Lodi at the battle of
Panipat?

A. 1527 AD
B. 1526 AD
C.1525AD
D. 1524 AD

Answer ||| B

Solution ||| Babur defeated Ibrahim Lodhi on 21 April 1526 in Panipat's
first battle.

41.Sir Thomas Munro was Governor of Madras during years

A. 1820-1827 AD
B. 1819-1826 AD
C. 1822-1829 A D
D. 1818-1825 A D

Answer ||| A

Solution ||| Sir Tomas Munro was appointed governor of Madras in 1820
and he remained in his post until his death in 1827 due to the cholera
disease.

42.From which rock shelter of Vindhyas, maximum number of human
skeletons have been found?

15
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A. MorahanaPahar
B. Ghagharia

C. BaghahiKhor
D. Lekhahia

Answer ||| D

Solution ||| Most of the 17 human skeletans have been found in Lekhahia
rock shelter of Vindhyas region.

43.The name of D . K. Karve of Western India Figures in the context of
which of the following?

A. Sati Pratha

B. Infanticide

C. Women Education
D. none of these

Answer ||| C

Solution ||| D. K. Karve of Western India, 1858-1862, had done many
important works in the Western India for welfare of women and to
improve their condition.

44.'The last Sun of Indian glory’ has been use for

A. Shivaji

B. Prithviraj

C. Rana Pratap
D. Hemu

Answer ||| A

Solution ||| The famous historian Jadunath Sarkar called Chhatrapati
Shivaji the last sun of Indian glory .

45.Match the List-I with List-II and select the correct answer from the
codes given below the lists:
List-I

16
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A) First Carnatic War

B) Third Carnatic War

C) Second Carnatic War

D) First Mysore War

List-1I

1) Ended by Treaty of Paris

2) Britishers Lost

3) Inconclusive War

4) Ended by Treaty of AixLa Chapelle

Answer ||| C

Solution ||| List-1 A) First Carnatic War B) Third Carnatic War C) Second
Carnatic War D) First Mysore War List-2 1. Ended by Treaty of Aix La
Chapelle 2. Ended by Treaty of Paris 3. Inconclusive War 4. Britishers Lost

46.Who among the following were prominent leaders of the ‘Khilafat
Movement’?

A. Maulana Mohammad Ali and Saukat Ali

B. Mohammad Ali Jinnah and Saukat Ali

C. Maulana Abul Kalam Azad and Rafi Ahmed Kidwai
D. Rafi Ahmed Kidwai and Saukat Ali

Answer ||| A

Solution ||| The leaders of the Khilafat movement (1919-22) were
Maulana Mohammad Ali and his brother Sukat Ali.

47.The Deoband Movement in U. P. (United Province) started in the year.

A. 1900 AD
B. 1888 AD
C.1885AD
D. 1866 AD

17
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Answer ||| D

Solution ||| In 1866-67 AD, the Deoband movement of Saharanpur was
started by Muhammad Qasim Wanotawi and Rashid Ahmad Gangohi. Main
objective was to ensure moral and religious revival of the Muslims.

48.What was the name of the party formed by Motilal Nehru and C R Das
in 1923 AD??

A. Independancy Party
B. Ghadar Party

C. Swaraj Party

D. Indian National Party

Answer ||| C

Solution ||| After the postponement of the non-co-operation movement,
Motilal Nehru and Chittaranjan Das founded the Swaraj Party in Allahabad
in January 1923.

49.Which of the following was first victim of Lord Dalhousie’s policy of
doctrine of lapse’?

A. Jhansi
B. Satara
C. Karauli
D. Sambalpur

Answer ||| B

Solution ||| Lord Dalhousie first merged Satara into the English state in
1848 AD under his policy of doctrine of lapse.

50.What was the name of the movement started by Khan Abdul Gaffar
Khan against British?

A. Red Shirt

B. Quit India
C. Khilafat

18
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D. None of the above

Answer ||| A

Solution ||| The name of the movement started by Khan Abdul Gaffar
Khan against the British was Red Kurti (Red Shirts).

51.RabindraNath Tagore gave up his ‘knighthood’ in protest to which one
of the following?

A. Rowlatt act

B. Massacre at JalliawalaBagh
C. Simon Commission

D. Cripps Mission

Answer ||| B

Solution ||| In protest of the Jalianwala Bagh Massacre (13 April 1919),
Rabindranath Tagore had abandoned his 'knighthood' title.

52.A resolution passed under clause (1) of Article 249, shall remain in
force for a period not exceeding

A. One month
B. three months
C. Six months
D. one year

Answer ||| D

Solution ||| The resolution passed in section (1) of Article 249 will not be
in force for more than one year.

53.The Sarkaria Commission was set-up for there view of relation
between

A. The Prime Minister and President
B. The Legislative and the Executive
C. The Centre and the States

19
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D. The Executive and the judiciary

Answer ||| C

Solution ||| Three important committees have been constituted so far to
review the affairs of the Central States. Rajmannar Committee, Sarkaria
Commission and Madan Mohan Poichhi Commission.

54.The State Finance Commission is a

A. Legal body

B. Non-statutory body
C. Constitutional body
D. None of the above

Answer ||| C

Solution ||| The State Finance Commission is a constitutional institution.
Its relation with Panchayats in Part 9 Of Article 243 of the Constitution.

55.Under which Article of the Indian constitution, the Parliament can
make laws on State list subject for giving effect to international
agreements ?

A. Article 249
B. Article 250
C. Article 252
D. Article 253

Answer ||| D
Solution ||| Under the Article 253 of the Constitution of India, the

Parliament can make laws on the subject matter of the state list to make
the international agreement effective.

56.Under which Article of the Indian Constitution, there is provision for
the Election Commission ?

20
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A. Article 320
B. Article 322
C. Article 324
D. Article 326

Answer ||| C

Solution ||| Article 324 makes provision for Election commission of India,
which is vested with power to conduct elections of union and state
legislature and that of president and vice president.

57.The Supreme Court of India enunciated the doctrine of “Basic
Structure of the Constitution” in

A. The Golaknath Case in 1967

B. The Sajjansingh Case in 1967

C. The Shanker Prasad Case in 1951

D. The keshvanandBharati Case in 1973

Answer ||| D

Solution ||| After the Keshavanand Bharati v. State of Kerala, the
Supreme Court clarified the principle of the constitution's infrastructure.
Accordingly, Parliament has the power to amend the Constitution (Part-
20, Article- 368), but Parliament can not affect its basic structure.

58.Who among the following is authorized to make provisions with
respect to the composition of Panchayats ?

A. Governor of State
B. Legislature of State
C. Parliament of India
D. President of India

Answer ||| B

Solution ||| The Legislative Assembly of the State is authorized to make
provision for the structure of Panchayats.

21
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59.Which part of the Constitution, has the provisions for Panchayati Raj
System ?

A. IX
B. VI
C. III
D. IV (a)

Answer ||| A

Solution ||| The 73rd Amendment Act 1992 implemented in Indian
Constitution from April 24, 1993 under section 9 of the Constitution.

60.The Panchayati Raj System was adopted to

A. Make people aware of politics.

B. Decentralize the power of democracy.
C. Educate the peasants.

D. None of the above

Answer ||| B
Solution ||| Panchayati Raj system has been adopted for decentralization

of democratic powers. by ensuring proper economic development of the
country and every citizen of the country can participate in it.

61.Who is considered as the ™ Architect of Panchayat Raj " in India ?
A. Acharya Narendra Deo

B. G.V.K. Rao

C. B .R. Mehta

D. L.M. Singhavi

Answer ||| C

Solution ||| In India, * Architect of Panchayat Raj " is called Balwant
Mehta

22
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62.Consider the following statements :

Assertion (A) : Dr. Ambedkar had describe Article 32 of Constitution as
the very soul of it.

Reason (R) : Article 32 of Provides effective remedy against the violation
of Fundamental Rights.

Select the correct answer using the cods given below:

Codes:

A. (A) and (R) both are true and (R) is the correct explanation of (A).

B. (A) and (R) both are true, but (R) is not the correct explanation of (A).
C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer ||| A

Solution ||| Under Article 32 of the Constitution, constitutional remedy
against the violation of Fundamental Rights provided.

63.Reservation of seats in Panchayat election for Scheduled Castes shall
not apply to the State.

A. Uttar Pradesh

B. Assam

C. Arunachal Pradesh
D. Haryana

Answer ||| C

Solution ||| Scheduled castes are not found in Arunachal Pradesh,
Nagaland, Lakshadweep and Andaman and Nicobar islands, therefore,
reservation of posts for Scheduled Castes in Panchayat elections does not
apply here.

64.According to Article 243 (ZJ) of Indian Constitution the maximum
number of directors of a cooperative society may be

A. 21
B. 15
C. 11
D.7
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Answer ||| A

Solution ||| According to Article 243 of Indian Constitution, maximum
number of co-operative directors can be 21.

65.A Bill for the purpose of creating a new State in India must be passed
by

A. A simple majority in Parliament and ratification by not less then two-
third of the States.

B. A simple majority in Parliament

C. A two-third majority in Parliament and ratification by not less than two-
third of the States.

D. None of the above.

Answer ||| B

Solution ||| A Bill for the purpose of creating a new State in India must be
passed by the simple majority of the Parliament.

66.In India, who is competent to amend Fundamental Rights of the
citizens?

A. Lok Sabha

B. Rajya Sabha

C. Parliament

D. Supreme Court

Answer ||| C

Solution ||| Parliament can amend the fundamental rights of citizens in
India. The power of amendment in the Constitution under section 20
Article 368 of Indian Constitution is contained in Parliament.

67.Which Article of the Indian Constitution is related to Indian Foreign
Policy?

A. Article 380
B. Article 312
C. Article 60

24
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D. Article 51

Answer ||| D

Solution ||| Part 4 of Indian Constitution contains Article 51 of and is
related to India's Foreign Policy.

68.Match List-I with List-II and select the correct answer using the codes
given below the lists:

List-I (Institution)

A) Controller and Auditor General of India
B) Finance Commission

C) Administrative Tribunal

D) Union Public Service Commission
List-II ( Articles)

1)Article 315

2)Article 280

3)Article 148

4)Article 323 (A)

~

~

Answer ||| A

Solution ||| List-I(Institution)

(A) Controller and Auditor General of India
(B) Finance Commission

(C) Administrative Tribunal

(D) Union Public Service Commission
List-II( Articles)

1. Article 148

2. Article 280

3. Article 323 (A)

4. Article 315

69.Who among the following holds his/ her office during pleasure of the
president?
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A. Comptroller and Auditor General of India
B. Chief Election Commissioner

C. Speaker of Lok Sabha

D. Attorney General of India

Answer ||| D

Solution ||| Article 76 (4) of Indian Constitution has outlined that the
Attorney General of India shall hold his office during pleasure of the
president .

70.Match the List-I with List-II and select the correct answer from the
codes given below the lists:
List-I

A) Constitutional Amendments
B) Finance Commission

C) Financial Emergency

D) All India Services

List-1I

1)Article 360

2)Article 312

3)Article 280

4)Article 368

A. A-2, B-3, C-4, D-1
B. A-4, B-3, C-1, D-2
C. A-3, B-4, C-1, D-2
D. A-1, B-2, C-3, D-4

4 4 4

Answer ||| B

Solution ||| List-I(Institution)
(A) Constitutional Amendments
(B) Finance Commission

(C) Financial Emergency

(D) All India Services

List-II( Articles)

1. Article 368

2. Article 280

3. Article 360

4. Article 312
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71.A money bill passed by Lok Sabha is deemed to have been passed by
Rajya Sabha also when no action is taken by the Rajya Sabha within

A. 10 days
B. 14 days
C. 15 days
D. 16 days

Answer ||| B

Solution ||| According to Article 105 (5) of the Constitution, if the money
bill passed by the Lok Sabha is not returned to the Lok Sabha within a
period of 14 days, then at the end of the said period, it will be assumed to
be passed by both the houses in the same form.

72.The Constitutional authority, vested with the power of declaring castes
and tribes as the scheduled Castes and Schedule Tribes, is the

A. President of India

B. Prime Minster of India

C. Minister of Social Welfare

D. Chairman, SC/ST Commission

Answer ||| A
Solution ||| President is the Constitutional authority for declaring any

caste as Scheduled Caste (Under Article 341 of the Constitution ) and
Scheduled Tribes(under Article 342 of the Constitution) .

73.In which State the Nelong Valley is located?
A. Himachal Pradesh
B. Jammu & Kashmir

C. Sikkim
D. Uttarakhand

Answer ||| D

Solution ||| Nellong Valley near the Indo-China border is part of the
Gangotri National Park of Uttarakhand.
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74.Which one of the following pairs is not correctly matched?

A. Fohn - Alps Mountain
B. Bora - Poland

C. Mistral - Rhone Plateau
D. Khamsin - Egypt

Answer ||| B

Solution ||| Only (B) is not correctlymatched because the bora is also a
dry and cool, wind, which runs on the eastern shore of the Adriatic Sea.

75.Arrange the following lakes in correct descending order of their area
using the codes given below :

1) Great Bear 2) Baikal

3) Victoria 4) Superior

Codes

A. 4,3,2,1
B. 4,2,1,3
C.3,2,1,4
D.3,1,4,2

Answer ||| A

Solution ||| Lake - Area Superior - 82,103KH2, Victoria - 68,800
KM?® Bajkal - 31,722 km? Great Bear - 31,153KM?

76.Which of the following is not correctly matched ?
Ports Country

A. Ratterdam - The Netherland
B. Igarka - China

C. Montevideo - Uruguay
D. Jakarta - Indonesia

Answer ||| B
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Solution ||| The Igarka port is located in Russia.

77 .Match the List-I and List-I and select the correct answer from the
codes given below :
List-I (Mountain Pass)

(a) Mana

(b) Nathula
(c) Zozila

(d) Sipki La
List-II (State)
1) Sikkim

2) Jammu & Kashmir
3) Himachal Pradesh

4) Uttarakhand

4 4 4
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4 1, c-3
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4 4 4

Answer ||| C

Solution ||| List-I(Mountain Pass)

(A) Mana

(B) Nathula
(C) Zozila
(D) Sipki La
List-II(State)
1. Uttarkhand
2. Sikkim

3. Jammu & Kashmir
4. Himachal Pradesh

78.Which of the following rock systems in India is the latest one?

A. Vindhyan
B. Cuddapah
C. Dharwar
D. Gondwana

Answer ||| D
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Solution ||| Gondwana is the latest one in India's rock systems. It is the
upper palegic - lower medieval period.

79.Match List-I with List-II and select the correct answer from the codes
given below the lists:
List-I (Tribes)

A) Khirghiz

B) Bushman

C) Ainu

D) Badduin

List-II (Area)
1)Japan

2)Arab

3)Central Asia
4)Kalahari

Answer ||| C

Solution ||| List-I(Tribes)
(A) Khirghiz

(B) Bushman

(C) Ainu

(D) Badduin

List-II(Area)

1. Central Asia

2. Kalahari

3. Japan

4. Arab

80.Which of the following passes leads to Leh?

A. Zozila

B. Shipki La

C. Chumbi Valley
D. Banihal

Answer ||| A
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Solution ||| The route for Srinagar to Leh via Jogila Pass in Kashmir.

81.Match List-I with List-II and select the correct answer from the codes
given below the lists:
List-I (Grasslands)
A) Lanos

B) Steppe

C) Praries

D) Veld

List-II (Continent)
1)North America
2)Africa

3)Europe

4)South America

Answer ||| A

Solution ||| List-I (Grasslands)
(A) Lanos

(B) Steppe

(C) Praries

(D) Veld

List-II (Continent)

1. South America

2. Europe

3. North America

4. Africa

82.Which of the following States of India produces more than 70 percent
coffee of the country alone?

A. Tamil Nadu
B. Kerala

C. Maharashtra
D. Karnataka

Answer ||| D
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Solution ||| India's 'Karnataka' state produces over 70% of the coffee
alone.

83.Match List-I with List-II and select the correct answer from the codes
given below the lists:
List-I (Industrial Region)
A) Kinki

B) Canton

C) Lorraine

D) Belohorizontle

List-II (Country)
1)China

2)Japan

3)Brazil

4)France

~

~

Answer ||| A

Solution ||| List-I (Industrial Region)
(A) Kinki

(B) Canton

(C) Lorraine

(D) Belohorizontle

List-II (Country)

1. Japan

2. China

3. France

4. Brazil

84.Match List-I with List-II and select the correct answer from the codes
given below the lists:

List-I (Centre)

A) Makum

B) Dallirajhara

C) Koraput

D) Chitradurg

List-II (Minerals)
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1)Iron Ore

2)Coal

3)Manganese
4)Bauxite

A. A-3, B-2, C-1, D-4
B. A-2, B-1, C-4, D-3
C. A-4, B-3, C-2, D-1
D. A-1, B-2, C-3, D-4

Answer ||| B

Solution ||| List-I (Centre)
(A) Makum

(B) Dallirajhara

(C) Koraput

(D) Chitradurg

List-II (Minerals)

1. Coal

2. Iron Ore

3. Bauxite

4. Manganese

85.The highest peak of Indian Peninsula is

A. Oatakamund

B. Anaimudi

C. Dodabeta

D. Mahabaleshwar

Answer ||| B

Solution ||| The highest peak of the peninsular India is the Anaimudi,
located in the Western Ghats whose elevation is 2694 meters.

86.In which of the following States, the area under Tube-well irrigation is
the highest?

A. Bihar

B. Haryana
C. Uttar Pradesh
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D. Punjab

Answer ||| C

Solution ||| According to the Agriculture Computation 2010-11, the
percentage of irrigation by tube-well in the following given states is
highest in Uttar Pradesh.

87.The northern part of the Western Coastal Plain of India is also known
as

A. Karnataka Coast
B. Malabar

C. Konkan

D. Coromandal

Answer ||| C

Solution ||| The northern part of India's western coastal plain is also
known as Konkan coast.

88.Tatipaka Oil Refinery is located in the State of

A. Assam

B. Uttar Pradesh
C. Karnataka

D. Andhra Pradesh

Answer ||| D

Solution ||| Tatipaka Oil Refinery is located in the state of Andhra
Pradesh.

89.Which of the following places has the lowest rainfall during the South
West Monsoon?

A. Kolkata
B. Mangalore
C. Chennai
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D. Delhi

Answer ||| C

Solution ||| The lowest rainfall during the South West Monsoon is in
Chennai.

90.Which of the following pairs is not correctly matched?

A. SardarSarovar Dam - Narmada River
B. Tilaiya Dam - KonarRivar

C. Gandhi Sagar Dam - Chambal River
D. NagarjunaSagar Dam - Krishna River

Answer ||| B

Solution ||| Tilaiya Dam has been built on Barakar river (Jharkhand).

91.The Earth’s axis of rotation (polar axis) is always inclined at an angle
of

A. 23.0 ° from the elliptic axis
B. 23.1 ° from the elliptic axis
C. 24.5 ° from the elliptic axis
D. 23.5 ° from the elliptic axis

Answer ||| D

Solution ||| The Earth's rotation axis (polar axis) is always inclined at an
angle of 23.5 ° from the elliptical axis.

92.Supposing all Indian States as different countries of the world in terms
of Human Development Index ranking: match these states to concerned
country’s raking and select correct option from codes given below:

List-I (States)

(a) Kerala

(b) Gujarat

(c) Uttar Pradesh

(d) Maharashtra
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List-II (Ranking countries)
1) South Africa

2) Pakistan

3) Honduras

4) Maldives

A. (a)-3, (b)-1, (c)-2, (d)-4
B. (a)-4, (b)-3, (c)-2, (d)-1
C. (a)-2, (b)-3, (c0)-1, (d)-4
D. (a)-1, (b)-2, (c)-3, (d)-4

Answer ||| B

Solution ||| List-I(States)
(A) Kerala

(B) Gujarat

(C) Uttar Pradesh

(D) Maharashtra

List-II (Ranking countries)

1. Maldives (104 Ranking)

2. Honduras(131 Ranking)
3. Pakistan(147 Ranking)

4. South Africa(116 Ranking)

93.Which of the following countries is the largest exporter of tea in the
world?

A. India

B. China

C. Kenya

D. Sri Lanka

Answer ||| C

Solution ||| According to the report of the Ministry of Commerce of the
Government of India, Kenya (499389 Metric ton ) is the largest exporter
of tea in the world in 2014.

94.Consider the following statements related to Integrated Low Cost
Sanitation (ILCS) scheme:

I) The system is funded on sharing basis

IT) Central Subsidy is 75 percent
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ITI) State subsidy is 25 percent
Of these, the correct statements are :

A. I and II only
B. II and III only
C. I and III only
D. I, IT and III all

Answer ||| A

Solution ||| Integrated Low Caste Sanitation Scheme, run by the Central
Government in 1980-81 for the liberation of the slaughtered people. 75%
of the scheme will be paid by the Central Government and 15% by the
State Government and the remaining 10% by beneficiaries.

95.Which of the following is not a new scheme announced for the
development of urban infrastructure?

A. Swachcha Bharat Mission

B. Heritage City Development and Augmentation Yojana
C. Smart City Scheme

D. Digital India Scheme

Answer ||| A

Solution ||| Swachh Bharat Mission Scheme started on October 2, 2014.
Which has no relation to urban infrastructures.

96.Who among the following was the Chairman of 14%Finance
Commission?

A. Shanta Kumar
B. C. Rangarajan

C. Y. V. Reddy
D. None of tha above

Answer ||| C

Solution ||| Under the Article 280 of the Constitution, for the financial
year 2015-20 , the 14th Finance Commission was constituted under the
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chairmanship of V.V. Reddy to provide financial advice for the financial
distribution between the Central and the States.

97.In Which of the following years, ‘National Land Records Modernization
Program’ was launched?

A. 2008 AD
B. 2009 AD
C.2010AD
D. 2011 AD

Answer ||| A

Solution ||| National Land Records Modernization program was started by
the Indian government in August 2008.

98.1In India “Inclusive education for the disabled at secondary stage”
scheme launched in the year 2009-10 is being provided under

A. Saakshar Bharat

B. SarvaShikshaAbhiyan

C. RashtriyaMadhyamikShikshaAbhiyan
D. Skill India Programme

Answer ||| C
Solution ||| Implementation of 'Inclusive Education for the Disabled at

Secondary Stage' scheme is done under the
RashtriyaMadhyamikShikshaAbhiyan.

99.Which one of the following is not the objective of financial inclusion?
A. To extend financial services to poor population.
B. To unlock the door of growth potential of weaker section.

C. Shrinking of banking infrastructure
D. To extend financial sector into rural areas.

Answer ||| C
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Solution ||| the objective of financial inclusion is expanding, not
shrinking, the backing infrastructure while doing expansion of financial
services for the poor backward population .

100.Which of the following is not a component of ‘Bharat Nirman’ scheme
launched in 2005-067

A. Rural housing
B. Rural sanitation
C. Drinking water
D. Rural roads

Answer ||| B

Solution ||| rural sanitation is not the Part of the ‘Bharat Nirman’ scheme.

101.What is the effect of deficit financing on economy?

A. Reduction in taxes
B. Increase in wages
C. Increase in money supply
D. Decrease in money supply

Answer ||| C
Solution ||| Due to the deficit finance system, the money supply in the

economy increases. Because there is a provision for issuing additional
currency for meeting budgetary deficit.

102.Which of the following age groups is eligible for enrolment under
‘SarvaShikshaAbhiyan’?

A. 4-12 years
B. 6-14 years

C. 5-15 years
D. 5-16 years

Answer ||| B
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Solution ||| Under the Sarva Shiksha Abhiyan -2001, children of 6-14
years of age are included. It is their right to have education up to the age
of six to 14 years .

103.In Which of the following years ‘Swavlamban Scheme’ was launched?

A. 2010 AD
B. 2011 AD
C.2012AD
D. 2014 AD

Answer ||| A

Solution ||| ‘Swavlamban Scheme’ for the labor’s of the unorganized
sector is the government-supported retirement pension scheme which
started in the year 2010.

104.Which of the following is not an objective of National Food security
Mission (NFSM)?

A. Distribution of high yielding variety seeds

B. Demonstration of improved production technology
C. Strengthening credit facilities

D. Popularising newly released varieties of crops

Answer ||| C

Solution ||| National Food Security Mission 'was started in the year 2007.
Strengthen credit facilities is not included under it.

105.Consider the following events and arrange these in chronological
order?

I. GaribiHatao

IT. Bank Nationalization

ITI. Beginning of Green Revolution

Select correct answer from the codes given below?

Codes :

A. I, IT and III
B. II, I and III
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C. III, Il and I
D. III, I and II

Answer ||| C

Solution ||| The Green Revolution in India was started in 1966 to increase
the production of grains and to Self dependence in food grains. Firstly the
Nationalization of 14 Banks in 1969 and in 1971 GaribiHatao slogan was
given by Indira Gandhi during the general elections.

106.'e-Biz’ refer to

electronic commerce

single window financial transactions

single window for business inquiries

. single window for approach to government service

oOowp

Answer ||| D
Solution ||| E-Bill is India's GZB (Goverment of Business) web portal.

Which has been established with the aim of facilitating interaction with
the Government and Businessman.

107.The committee which has recommended abolition of Tax Rebates
under section 88 of the Income Tax Act of India, is

A. Chelliah Committee

B. Kelkar Committee

C. Shome Committee

D. Rangarajan Committee

Answer ||| B

Solution ||| The Kelkar committee had recommended to abolish the
income tax Rebates under Section 88 of the Indian Income Tax Act.

108.The span of ‘Pradhan MantriAwasYojana’ is
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A. 2014-2021
B. 2014-2024
C. 2015-2022
D. 2015-2025

Answer ||| C

Solution ||| ‘Pradhan MantriAwasYojana’ has been started to ensure
housing for all, from 2015 to 2022.

109.Who among the following actresses is the brand ambassador of
‘Nirmal Bharat Abhiyan’?

A. Madhuri Dixit

B. Vidya Balan

C. Priyanka Chopra
D. Parineeti Chopra

Answer ||| B

Solution ||| The Nirbhal Bharat Abhiyan was launched in 2012, its brand
ambassador is Vidya Balan.

110.T. Kajita and A. McDonald, winner of the year 2015 Noble Prize for
Physics belong to which of the following countries respectively?

A. U.S.A and Japan
B. Japan and U.S.A
C. Japan and Canada
D. Canada and U.S.A

Answer ||| C

Solution ||| The Nobel Prize for Physics of the Year 2015 jointly coincided
with Japan's Takaaki Kajita and Arthur B. McDonald of Canada.

111.After confidential meeting between National Security Advisers of
India and Pakistan in Bangkok, foreign minister Sushma Swaraj went to
Pakistan to attend ‘Hear of Asia Conference’ held in 2015 at
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A. Karachi

B. Lahore

C. Peshwar
D. Islamabad

Answer ||| D
Solution ||| Under the framework of the Istanbul process on December 9,

2015, the 5th ‘Hear of Asia Conference’ was organized in Islamabad in
Pakistan.

112.The refugees and migrants in Europe reached which milestone mark
recently as disclosed by the UNHCR?

A. 1.0 Million
B. 1.5 Million
C. 2.0 Million
D. 3.0 Million

Answer ||| A

Solution ||| According to the released data by the United

Nations Boatyard Agency, the number

of Boatyard and migrated persons in Europe in 2015 is 1015643 which
is more than one million.

113.Which country of the world is building an alternate capital to save its
citizens from natural disaster?

A. Armenia
B. Philippines
C. Vietham
D. Thailand

Answer ||| B

Solution ||| The Philippines announced its decision to build alternative
capital to protect its citizens from natural disasters in December 2015.
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114.The costliest metal of the world discovered recently, is

A. Endohedral Fullerene
B. California 252

C. Tritium

D. Rhodim

Answer ||| A

Solution ||| In December 2015, scientists from Oxford University built a
new substance, Endrohedral fullerene, with the help of carbon atoms.
Which is considered to be the most expensive substance in the world.

115.'Seva Divas’ has been proposed by Central Government to celebrate
the birthday of

A. Atal Bihari Bajpayee

B. Deen Dayal Upadhyay

C. Shyama Prasad Mukherjee
D. Veer Savarkar

Answer ||| B

Solution ||| ‘Seva Divas’ has been proposed by Central Government to
celebrate the birthday of DeenDayalUpadhyay.

116.The first woman recently elected to Local Council of Mecca in Soudi is

A. Mariam Bint
B. Hanouf Bint
C. Salma Bint

D. Aasma Bint

Answer ||| C

Solution ||| Salma Bint is the first woman to be elected to the local
council of Mecca in December 2015 in Saudi Arabia.

117.Recently in news, Wedelstein 7X is related to
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A. Steam Energy
B. Solar Energy

C. Thermal Energy
D. Nuclear Energy

Answer ||| D

Solution ||| Founded by Max Planck Institute of Plasma Physics in
Greifswald , Germany Wedelstein 7X is modern-day nuclear fusion plant.

118.Which country recently rejected one child norm policy and allowed
parents to have another child?

A. Sweden
B. Cuba
C. China
D. Finland

Answer ||| C

Solution ||| On December 27, 2015, after passing the resolution by the
Chinese Parliament, from January 1, 2016, all Chinese couples have been
allowed to produce two children.

119.Who among the following has been chosen ‘Person of the year 2015’
by Times Magazine?

A. Barack Obama

B. A

B. Al. Badadi

C. Francois Hollande
D. Angeela Merkel

Answer ||| D

Solution ||| German Chancellor Angeela Merkel was elected Person of the
Year, 2015 by Times Magazine.
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120.In the International Tennis Premier League 2015, matches held in
India, Rafael Nadal Played from the team India, Rafael Nadal played from
the team

A. UAE Royals

B. India Aces

C. Japan Warriors

D. Philippine Mavericks

Answer ||| B

Solution ||| Rafael Nadal played from the India Aces team In the
International Tennis Premier League 2015, matches held in India.

121.In which of the following districts of U.P., 112 year old woman
(Nauroji Devi) has been elected Pradhan of a Village?

A. Mau

B. Azamgarh
C. Ghazipur
D. Jaunpur

Answer ||| B

Solution ||| In the Panchayat elections held in Uttar Pradesh, the 112-
year-old Nauroji Devi, has been elected as the village Pradhan of
Admamau of Phulpur block of Azamgarh district .

122.RaghuvirChaudury, who was reentry awarded Sahitya Academy
Puraskar, enriched the literature in

A. Marathi
B. Gujarati
C. kannada
D. Hindi

Answer ||| B

Solution ||| Raghuvir Chaudhary was given the 51st Gyanpeeth Award for
the year 2015 for Gujarati language. The question has been asked for
Sahitya Akademi Award in place of Gyanpeeth Award, which is false.
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123.In the 64t Miss Universe Competition, the winner Pia Alonzo
Wurtzback belongs to

A. Philippines
B. Columbia
C.U.S.A

D. France

Answer ||| A

Solution ||| the 64th Miss Universe Competition, the winner Pia Alonzo
Wurtzback belongs to Philippines.

124.A well planned racket has been unearthed in Indian Railways
recently.
The scam is related to

A. Sale of spurious food items on platforms and coaches.
B. Railway branch water ‘Rail Neer’

C. Supply of substandard electric items

D. Over/under invoicing of goods transported by trains.

Answer ||| B

Solution ||| In December 2015, scandal has come out. Of Rs. 19.5 crores
by the CBI. This scandle is related to Railway's brand water ‘Rail Neer”.

125.Barak-8 Missile (next generation) has been development by India in
collaboration with which of the following countries?

A. Russian
B. U.S.A.
C. Israel
D. France

Answer ||| C

Solution ||| India is developing the Barak-8 missile with the collaboration
of Israel.
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126.In which of the following countries women have been given voting
rights for first time and they won 13 seats in the election (2015) creating
a history?

A. Iraq

B. Jordan

C. Saudi Arabia

D. Turkey

Answer ||| C

Solution ||| In the local body elections in Saudi Arabia in 2015, for the

first time, women were given the right to vote and contest elections, in
which they won 13 seats while creating history.

127.' Simply Click’ credit card scheme is launched by which of the
following Banks?

A. IDBI

B. ICICI

C. B. B.O.

D. S.B.I
Answer ||| D

Solution ||| ‘Simply click’ credit card scheme started by State Bank of
India in September 2015.

128.Internal Security Academy is located at

A. Mount Abu
B. Nasik
C. Hyderabad
D. Pune

Answer ||| A
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Solution ||| Internal Security Academy is located at Mount
Abu(Rajasthan).

129.How many countries of the world have adopted compulsory voting
system?

A. 32
B. 25
C. 24
D. 26

Answer ||| D

Solution ||| 26 of the 203 countries in the world have the legal provision
of compulsory voting, but it has been practically implemented in only 14
countries.

130.The book ' Kargil : Turning the Tide’ is written by

A. Mohinderpuri
B. Anita Nair

C. Chetan Bhagat
D. Durjoy Data

Answer ||| A

Solution ||| The book * Kargil : Turning the Tide’ is written by Mohinder
puri.

131.The cities which are included in ‘Golden Triangle’ of India Tourism,
are

A. Agra, Delhi and Jaipur
B. Mathura, Agra and Gwalior

C. Agra, Kanpur and Lucknow
D. None of the above

Answer ||| A
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Solution ||| Agra, Delhi and Jaipur cities are included in ‘Golden Triangle’
of India Tourism.

132.National Dairy Research Institute is established at

A. Karnal
B. Hisar
C. Anand
D. Jaipur

Answer ||| A

Solution ||| National Dairy Research Institute is established at Karnal
(Haryana).

133.Smallest man-like ape is

A. Gibbon

B. Chimpanzee
C. Gorilla

D. Orangutan

Answer ||| A

Solution ||| man-like smallest ape is Gibbon. It falls under the category
of Smallest ape.

134.'The Roots of Ancient India’ was written by

A. D. K. Chakravati
B. D. P. Agrawal

C. W. A . Fairservis
D. A . Ghosh

Answer ||| C

Solution ||| Writer of ‘The Roots of Ancient India’ Book was W. A.
Fairservis.
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135.Which community has the lowest sex ratio in India as disclosed in the
additional data pertaining to Census 2011 released recently?

A. Buddhist
B. Sikh

C. Jain

D. Muslim

Answer ||| B

Solution ||| According to the census 2011, Sikh community has the lowest
sex ratio(903/1000) in India.

136.As per 2011 census, Which of the following States of India is most
densely populated?

A. West Bengal
B. Kerala

C. Uttar Pradesh
D. Bihar

Answer ||| D

Solution ||| As per 2011 census, Bihar is the India’s most densely
2
populated State(1106 person/ KM ).

137.Which of the following pairs is not correctly matched?
Decade

A) 1971-81

B) 1981-91

C) 1991-2001

D) 2001-2011

Decadial growth rate of population (in percent)
1) 24.66

2) 23.87

3) 21.54

4) 19.05
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Answer ||| D

Solution ||| Decade

(A) 1971-81

(B) 1981-91

(C) 1991-2001

(D) 2001-2011

Decadial growth rate of population ( in percent)
1. 24.66

2.23.87

3.21.54

4, 17.76

138.The Census Projection Report shows that India is one of the youngest
nation in the world. In year 2020, the average age of Indian will be of

A. 27 years
B. 28 years
C. 29 years
D. 30 years

Answer ||| C

Solution ||| According to the Census 2011 report, by 2020, India will
emerge as the world's youngest nation, with an average population of 29
years.

139.Which of the following segments of population is not included in the
scheme of inclusive developments?

A. Marginal farmers

B. Landless agricultural labours

C. Scheduled Castes/ Scheduled Tribes
D. People living in semi-urban areas

Answer ||| D
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Solution ||| Inclusive development is meant to ensure the participation of
poor, backward sections and women in economic development of the
country. Under this, people living in semi-urban areas are not included.

140.The maximum biodiversity is found in

A. tundra

B. coniferous forests
C. tropical rain forests
D. temperate forests

Answer ||| C

Solution ||| Most biodiversity is found in tropical rain forests.

141.India’s first National Action Plan on climate change was released in

A. 2008 AD
B. 2012 AD
C. 2014 AD
D. 2015AD

Answer ||| A

Solution ||| In the year 2008, the first National Action Plan on India's
Climate Change was released.

142.Indiscriminate use of fertilizers have led to

soil pollution
water pollution
air pollution

. All of the above

oowp

Answer ||| D

Solution ||| Pollution caused by excessive use of fertilizer includes all soil
pollution, water pollution and air pollution.
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143.Which one of the following is an artificial ecosystem?

A. Rice field
B. Forest

C. Grassland
D. Lake

Answer ||| A

Solution ||| Rice field is an artificial ecosystem.

144.In a food chain, man is

A. producer

B. only primary consumer

C. only secondary consumer

D. primary as well as secondary consumer

Answer ||| D

Solution ||| In a food chain, man is primary as well as secondary
consumer because they can take both types of vegetarian and non-
vegetarian food.

145.The main reason for the decrease in biodiversity is

A. habitat pollution

B. introduction of exotic species
C. over exploitation

D. natural habitat destruction

Answer ||| D
Solution ||| habitat pollution, introduction of exotic species, over
exploitation and destruction of natural habitats all are the reasons for

the decrease in biodiversity but the most important reason for the
decrease in biodiversity is the destruction of natural habitats.
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146.Which of the following Acts provides for protection to wild animals in
India?

A. Wildlife Protection Act 1972

B. Forests Protection Act, 1982

C. Environment Protection Act, 1996

D. West Bengal Wild Animal Protection Act, 1959

Answer ||| A

Solution ||| In India, provision of protection for wildlife, plants and birds
has been made under Wildlife Protection Act - 1972.

147.Share of U. P. in the exports from India in 2014-15 is the range

A. 4 to 5 percent
B. 5 to 6 percent
C. 6 to 7 percent
D. 7 to 8 percent

Answer ||| A

Solution ||| Uttar Pradesh's share of India's exports in the year 2014-
2015 is between 4 to 5 percent. It holds second place in export after
Maharashtra.

148.Which among the following Panchayats, are included in the District
Plan in U. P.?

1) Nagar Panchayat

2) Gram Panchayat

3) Kshetra Panchayat

Select the correct answer from the codes given below?

Codes :

A.Ionly
B. I and III only

C. IT and III only
D. I, II and III all

Answer ||| D
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Solution ||| The Nagar Panchayat, Gram Panchayat and the Kshetra
Panchayat are included in the Uttar Pradesh District Planning.

149.The largest Sugar Mill of Asia is located at which of the following
place in Uttar Pradesh?

A. Khatouli

B. Balram

C. Bulandshahar
D. Najibabad

Answer ||| A

Solution ||| Asia's largest sugar mill is located in Khatouli, Muzaffarnagar
district of Uttar Pradesh.

150.Largest concentation of software and business process outsourcing
industry in U. P. is at

A. Meerut
B. Kanpur
C. Noida

D. Varanasi

Answer ||| C

Solution ||| Noida (Uttar Pradesh) is the largest center of software and
business process outsourcing industry.
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